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1. Give very short answer : gl-eznes 0 1x12=12
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(a)

(b)
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Which of the following statements is correct ?'

e @Il e w2

() Induction is concern(;:d only with formal truth.

o (e SPENS AGTOI 916 STS |
(i) Induction is a process of generalisation.
s TR G AT et |-

(ii) The conclusion of an induction follows necessarily from its

premises.
ot i T SEERRERE »[ SRR Fes 2

In which of the following kinds of induction, there is inductive

leap ?

BCHS ST AP (DS oA St Qe 2

ii) Perfect induction

e a1
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(c)

(d)

(e)
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(i) Analogy
FAPILETE S
(iilij‘ Colligation of facts
| o1 FRCAS
(iv) Induction ‘by parity of realslokl;ling

e S

“All men are religious.” — Is this proposition analytic or

synthetic ?

TR AR = 4IfSier 7 — 9% 5] Roes cﬁﬂam?

“Cause and effect are events in time.” — Is it a quantitativé mark

of causation ?

‘Wﬁ%ﬁmﬁﬁ%mmﬁwaﬁn”—ﬁﬁiﬁ% ARMelsTe
F W 2 e

Which of the following statements, is corréct ?

e IRt B 9% ?

() Experiment is finding a fact and observation is making one.
‘ i
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(i) Obscrvation succecds experiment.
JSwey g S_TweR Pres |

(iiil In an cxperiment, one cannotl pass from the cffeet to the
causc.

SFwoe DA 219 DR [T sfq #/q [

Fill in thc blank :

| 3F 7[435 3

Mill's paradox of induction is said to commit the fallacy of

veessesvecvene

Which of the following is correct ?

RO (P! T 2

(i) Direct verification of a hypothesis can be dOr.,e by obscrvation

only.
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(i) Direct verification of a hypothesis can be done by observation

or experiment.

@I oET o Aeplel RS AR AR A IR AR

(ii) Direct verification of a hypothesis can be done by experiment

_only.

.
b

e AR ARICE O] o SO I R AR

(h) Does the method of residues require previous knowledge of the

j cause or effect for its application ?

SRTIT 2 2ol TR Y A AT e TR = (2

|
|
|
|
’ () Name the expeﬁmental method which is based on the following

canomn :

“Nothing is the cause of a phenomenon which is known to be the

cause of a different phenoménon-_”
RN TR G TS ATRET eeeToR A 1 2
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“The method of agreement is ‘a method of experiment and the

method of difference is a method of observation.” — Is it correct ?

“w SNE N SRR SRS ST PR el 1
— DAY OAE ? |

Who did introduce the “theory of pre-established 'harmony” ?

“W"i@ “I\'—’kl?ﬂ o (theoi‘y of pre-establishéd harmony) (B!, GRIT
o3 2 |

Who is regarded as the father of modern philosophy ?

wqﬁ%wﬁa%{%wmﬁw

State any two similarities between scientific-induction and unscientific

induction. 2

TR Sl W AT St e 4l RO 75 Ay Srama <=1 | o
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’

Define analogy with suitable example. C1+1=2

THTE TARIPTR AT Siqig Ffeeat |
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4. Define efficient cause with an example. 1+1=2

Trizez [Rfse FRaT FAgest W

5. Briefly explain positive condition with the help of a suitable example.
A T : s ' 2

ToE TriRelR TS ST T W SAprRe R 5 I SI9RCERT |
Or/ﬂﬁ?f

Briefly explain negative condition with the help of a suitable example.
| 2

e waﬁ Ao dfege A e Sotpieir A s‘iahﬂnwmn

6. What is a crucial instance ? ' ‘ 2

v 8IS 3 Rt e e e

< DBriefly explain any one condition of a valid hypothesis with the help

of a suitable example. | 2

TATE THITIIR RIS (34 w5 56 BT [ 4|
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8. What do you mean by analogical hypothesis ? 2

APTETe 8 Jferee 6 9@ e

9. Why are the inductive methods called “Methods of elimination” ?

2
ST AT SN Y SR AqfS” @ =2
10. What do you mean by realism ? S e -
JqwRv Jferce [ e 2
11. State two points of difference between realism and ide alism. 9
' S
IR S SRAN NES {75 A g 74 |
_ g’;
12. Ekplain the etymological meanihg of the word ‘Dp, o : 2

“sf” =B FesifEere i I A

[8]
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13. Mention two points of difference between religion and morality. 2

o O HSTOR WerS X 757 S Trmd w4 |
or / 33

Mention any two characteristics of religion. 2

ysfa Ricorcr 7o (S T 31|

14. State two similarities and two dissimilarities between analogy and

scientific induction. 2+2=4

41

15. Briefly explain, with example, any two rules on which the value or

strength of an analogy depends. 2+2=4

Wmmﬁ@mmmwmﬁmmmgm,
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16.

17.

~ advantages of observation over experiment. 2+2=4

18.

T LOPH

Explain with example the quantitative mark of cause from the
standpoint of the law of the conservation of matter and energy.

4

T O+ IRTTOR e [RSETIE ToTe B IR SfRelors s
[ K|

Or / Iz

Explain the relation between cause and condition with the help of

suitable example. 4

Toige TURIET FTRITS IR ST TABIIAT TooRE i 30

State two- advahtages of experiment over observation and two

AP gemre A8 5 R o s 9eRS WarwaR mqmw
- | . |

Distinguish between hypothesis cohceming agent and h'ypothcsis

concerning law with the help of suitable example. | 4

ToRE Tz HRAS T6! A PN R ey o AW Rawe 2iw® Wiore sty
R
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19. Briefly explain the four stages of a hypothesis. "4

2R W] WW?}TWW!

Or / 2

State four uses of hypothesis. | . 4

2R wﬁﬁrmr@ﬁﬁwf'mﬂwn

20. State two advantages and two disadvantages of the method of

agreement. | | . , 2+2=4

- wEdl AN fmgﬁzﬂm zﬁrwﬁzﬂwﬂm
or / % |

~ State two advantages and two disadvantages of the joint method of

agreement and difference. | 2+2=4

et SRR et 77 AR S 757 SRR B <
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21. Briefly express four points of criticism against naive realism.

4
e AR [eca bIfF0] FANCED B0 APl 1 |
or / 7231
Bricfly express four points of criticism against scientific realism.
4

TS ABTAE FecE SIEE ACETD BT e 59 |

992, State any four points of difference between primary qualities and

secondary qualities. 4

3207 @el SR CaTiel @S WAoo A Ricpica BIfRGr << Bl 54 |

23. Briefly discuss the nature of ethics. 4

el dgfe a1 Fwma TS ST A0 |
or / =23

- Briefly discuss the scope of ethics.
JIfeRR o= F=AE HCP SICEA Tt |
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24. Why is the method of concomitant variation considered as a modified
version of the method of agreement and the method of difference ?
Explain. ~ ' 3+3=6

L ST et Rl 2w TR el RS w1 o
e = |

Oor / k%

Define the joint method of agreement and difference in your own
words and give a concrete example of it. Why do some logicians regard
this method as “the method of double agreement” or “the double
method of agreement” ? Explain. 2+2+2=6

(oY o o e SEM-feESP! 2l Aket il o @3 Ao @5 Aw
TrieRd Al | Rrgn SRR @ i [ “tae el eiﬂ‘t?‘ﬁ”at W‘oﬁ@

2etieT” I Kol e A F_A1

25. What is Berkeley’s subjective idealism ? Bneﬂy express Jour points of
criticism against this type of idealism. ‘ 2+4=6

wﬁawﬁéwﬁsmﬁmwwmﬁ@ mewm
o T |

v e

or / #3

Critically discuss objective idealism of Hegel. 6

@ﬂmwﬁ%@«mwﬁ%?ﬂmwml
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26. Does the end justify the means ? Give a reasoned analysis with the

help of concrete examples. 6

A TR OF AR T PR AR 2 TATE AT AT QTS B} gyl

BT SCHIR |
‘or / WA

Briefly explain any three pﬁrusarthas. S , 2%3=6

ﬁ@wﬁﬁﬁam@ﬁmwwxn ARG |

27. Explain the nature of religion. ' 6

o ol a1 el TS T
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or / 73
Critically explain any one of the following views : 6x1=6

CRIe TONTR ¥ R G5 RIQ TGS G SoRCpH |

[i) Religion is the source of morality.

¢l TR ("foroR e |

(i) Morality is the source of religion.

mmm“@w
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1.

Give very! short answer : L -, 1.x12=.12

(@)

(b)

o d)

~ What is the ground of Analogy ? .

S5
. i A

What is the essence of induction proper ?

~ LY

TN oA 3 T o 2

Is perfect induction an induction proper 7
¢ : PST. 5

Al ST TN o T 2
- -\ o " v ! o , E ) ‘ : ,,!:,,_ - g - » N
: . " - l

el

negative taken together” — who said the statement ?

PR TR S e e TR AR R | SR P

e 7
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o« - . . : ‘
~(e). “The . law. .of  causation..is: the .material. ground "of

oY

~ induction” - is it true?

oI R Carg iR @S R —pt ot T 2

(/ What is Vera Causa’?

_ (g) What‘.is the meaning:' of the Latin Word ‘Mores’? ) |

Sl W ‘Mores’:’-‘fzﬁﬁﬁ'mr;ﬁs I
o 1 e

' (h} ‘W_h(_)‘ is the founder -of 'Scie_nﬁfic,; rea'lisﬁ} ?

/

57T LOPH | - [8] | * v .Contd.




| (i) + “Observation is finding a fact and experimeh‘t?is making

'o'ne” — Who said this?

SR R
‘ﬁ%ﬁwmwmmmqmw»ﬁ — AR
R eE 2 -

), How maﬁy.purusarthas are there ?

?ﬁ?ﬂ#@‘?m ?

(k) 'Is ethics a positive science ?

() From which Sanskrit root the word Dharma’ is derived ?
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2. Define scientific induction ? vor _ ‘ 2

e S SRE |

R ool T

3. Explain’ vefy briefly why the conclusion of unscientific

induction is pmbable. ‘ . : 2

4. Why observation and experiment are called the material

grounds of induction ? BT T S UL » I

‘! 5. State two advantages of simple obs‘ervatioh. 2

Wﬁ@ﬁ%m&ﬁmmﬂw| "
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What do you mean by Paradox of IhdUCtioh?’fﬁ“" T 2 . /

e Ko e g e o s |

- : . ;

Yo -\7 . A} rd ,}l

|
: N
| . ._z

6. . Mention two features of scientific realism. o .

. _ : _ o v 3es o

. , Sy ) S ] . T s Dt ' |

| . . J'

1 ’ |
RS ASRIE 75 RSy Brma 3 : |

‘ | ' o )

!

b 1
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7. Define primary qualities with éxafripl.e.s.‘ ;'_“

| ESAARIC L E‘Wﬁﬁm

PR

8. What is t,he. meaning of ‘esse est percipii’?

‘erePRCe 98 R’ Q@I e o 7 ? |

27T LOPH (6]




11

10.

 Name the form of idealism with which dialectical method is

associ,ated. State the name of the ph:iAlosop'her who advocated

this methad. .. . : . - 2

A AT TS ST ST e e T Bt | < SRt et
ww'wm%ml,u : . [ Lo ‘.‘-,'(

_State .two’ featﬁr'es_l of objective idealism. = 2

F@TS SRR 757 (e Tead B

: - . « o .
SN FR e s o

Why is habityal action considered as an object of moral

judgement? . - 2

WWWW@«M@W ey < @e

state the second anon of e11m1nat10n Nam'e the

12
experlmental method whlch is based on thlS canon of
elimination, . | N o 1+1=2
7T LOPH I KA T ' Contd.
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State one advantage of the method of Agreement. Why is this

method called the method of dlSCOVGI’y‘)

SR AT ﬁﬁf‘iﬁﬂ%ﬂ@t@?ﬁﬁﬁf%ﬂ%%{%ﬁm 3
23 7 |

13. State two points of difference betwe :
o inductive and
deductlve inference. ;

2
SR SN FAISRE SR ere 249 7o) My A
14. Explain the meaning of ‘Varnasrama dharma, 4

»

Fefferst &3 =<l i) s |

27T-LOPH [8]




15. State Flint’s definition of religion. ' g
o =TS BTG i SRt T = 1|

!"{.;'O'I"/‘_W)@?T R S

R ’

Mehtion any four characteristics of religion. ' 4

. T . . o - . . N
e 20 TR T S SR S oo L oL B TP PRI e R
B DTS | .
s R BIRG) (e T
| VL |
.. RS ""'." B R e . | R
L

16. Mention two practical ‘imperfections of the method of

» - R T <. . N vy
.

Agreement.. . Git e e

[

vmﬁﬁ'Wﬁﬁm'ﬁWamam%$<ﬂﬁﬁ$f§@wﬂaﬁmu o *1':“3 .

17. Staté two pdints sf similatity between' religion atd morality.
. | 242=4

| 191 A
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State four points about the nature of hypothesis.

AFHS AP T 51501 [Faa ez 741 |

18. Distinguish between good analog/.and bad analogy. 4
: L]

me@mﬁm AAlfe et

Or / 23

Distinguish between cause and condition.

P N TR oo AL (7S |

|
’ 19. State along with brief explanations about the four éonditidns
|

of a legitimate hypothesis. 4

53 iRt 7Z @6l (34 oFES 51901 56 G I
27T LOPH [10]
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- 20.

21.

22.

k

Write short note on the fallacy of post hoc ergo propfer hoc.

4

Gdtiue

W@ﬁﬁmﬂ“ﬁﬁ@ﬁﬁi{mﬁim

RIS

Name the theory wh1ch states that external wbﬂd can be

state one lmportant dr

W@ﬁ_mwwﬁ WWWWW{%Wﬂwm

s | IS @ :.;g»rcma sicesl WWW uﬂ%l @Wﬁcf R %@m-

=4l |

F.J ! ! ¢ - Ve

Write Short note on «conflict Qf ;de,sirt;’s;’»,‘__ T
e i fera
(1l - . Contd.
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nOWI1 dlrectly ‘as it reany is. AISO defme this theory and.
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Or / #23

What is voluntary action ? State the three stages’of voluntary

action. W | t 1+3=4

afvezs Tl i @i 2 aftes fFaR w1 om0 StEe 35 |

23. Define, Berkeley’s SubjeActive Idealism. Is Berkeley a solipsist ?

2+2=4

A S SiRa e frl | RE o SR A 2a ¢

24. Define unscientific induction with example. State why it is
called ‘Unscientific’ ? Mention briefly three Characteristics e

unscientific induction. 2+1+3=6-

Trlzgd T @Wﬁ?ﬁ'wm SigeEl SNSRBRT | G3Ry ey o
S W @I g | ST SR O Ry sy
T T4 |
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25. "
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. What is experiment?.

_ over Observatlon 9

-
[N Loy

Analogy
2+4=6

[

i . et g ’ ‘Al' - ‘u'"v-;']f 1y the

- : - 2+4=6 )

x

ualltatlve marks of a cause

| asﬁrwawwqaﬁawﬂ\wﬁmm% @qﬂ@wws:@as |

Z7=l A

or / 7

]

What ar e‘,ltl\;e advantages of éxp.erimerit

@Wﬁﬁs}ﬁ%«wﬁﬂ*@ﬂﬁw&ﬁs9
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26.

Define hypothesis with- a - scientific example. Explain |
hypothesis concerning law and hypothesis concerning

(;ol'locatic')_r_l,f.', BRI e | 2+4=6

aﬁmwﬁ%wqmmaﬂ\wﬁmlﬁmﬁmawwmﬁw1
v‘{ﬁzﬁﬁw W%WWWI ’

What are the different kinds of hypothesis according to |

~ 'Stebbing ? Explain' each of them with’ example: 2 +'4='6 ,

27.

-&ﬁwwﬁr—axmwﬁﬁ w‘*"?manam

ool |

State _Mill’s Canon of 'the'method of Differénce, Deséribe
]lofi'eﬂy' four disa‘dvéﬂta’gés or.defects of this me'thod.

| | 2+4=6
Waﬁmﬁma@%wwmﬁmﬁwﬁa wﬁbr wﬁim
13*1?6 <l <= |
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Or / 373?7 |

Expléu'n the method of Residues with example. Do you:think
it to be an improvement upon the method of Difference ?
. Explaln - ..2-"-4=6~
ﬁ;mgy(quﬁﬁrm-ﬁﬁfﬁﬁTaﬁﬁﬂawn«¢59@ﬁﬁiTaﬁ%Gﬁﬁ‘wﬁfi:ﬁ¢
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